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Vert.x
ONMUUCaHue

Co3paTtesib TuM DoKc
BcTpoeHHana o6w,an WnHa
AbcTpakuua Hap Java Concurrency

PeaKTUBHbIN



[lonvurnoT
nna a3bikos JVM

® Java ® Groovy

® JavaScript ® Scala

= Ruby m Kotlin



Ha yemM

boKycupyemcs
Moppob6Ho: He KOHUeHTpUpyeMmcs:
® [IpUHUMNbI PEAKTUBHOIO ®m Kubernetes
NPpOrpaMMmMpPoOBaAHUA

® Mongo DB
m Vert.x



PeakTuBHoOe
nporpaMMmnpoBaHue

Event loop

Event Queue while (true) {

getNewEvent();
I 4.—.—> findHandler();

callHandler():




| Multi-Reactor

Event loop

Event Queue

— -@-0—

while (true) {
getNewEvent();
findHandler():;
allHandler();

C
}




[lepBoe
NpU10XKeHue

import 10.vertx.core.AbstractVerticle;
import 10.vertx.core.eventbus.Message;

public class HelloVerticle extends AbstractVerticle {

@Override
public void start() {

vertx.eventBus().consumer('greetings", this::hello);

vertx.eventBus().publish('"greetings", "My first message");

}

private void hello(Message<String> data) {
String message = data.body();
System.out.println(message);

1/9
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import 10.vertx.core.eventbus.Message;

public class HelloVerticle extends AbstractVerticle {
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public void start() {

vertx.eventBus().consumer('greetings", this::hello);

vertx.eventBus().publish('"greetings", "My first message");

}

private void hello(Message<String> data) {
String message = data.body();
System.out.println(message);
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public class HelloVerticle extends AbstractVerticle {

@Override
public void start() {

vertx.eventBus().consumer('greetings", this::hello);

vertx.eventBus().publish('"greetings", "My first message");

}

private void hello(Message<String> data) {
String message = data.body();
System.out.println(message);
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import 10.vertx.core.AbstractVerticle;
import 10.vertx.core.eventbus.Message;

public class HelloVerticle extends AbstractVerticle {

@Override
public void start() {

vertx.eventBus().consumer('greetings", this::hello);

vertx.eventBus().publish('"greetings", "My first message");

}

private void hello(Message<String> data) {
String message = data.body();
System.out.println(message);
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NpU10XKeHue

import 10.vertx.core.AbstractVerticle;
import 10.vertx.core.eventbus.Message;

public class HelloVerticle extends AbstractVerticle {

@Override
public void start() {

vertx.eventBus().consumer('greetings", this::hello);

vertx.eventBus().publish("greetings", "My first message");

}

private void hello(Message<String> data) {
String message = data.body();
System.out.println(message);
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import 10.vertx.core.AbstractVerticle;
import 10.vertx.core.eventbus.Message;

public class HelloVerticle extends AbstractVerticle {

@Override
public void start() {

vertx.eventBus().consumer('greetings", this::hello);

vertx.eventBus().publish('"greetings", "My first message");

}

private void hello(Message<String> data) {
String message = data.body();
System.out.println(message);
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import 10.vertx.core.AbstractVerticle;
import 10.vertx.core.eventbus.Message;

public class HelloVerticle extends AbstractVerticle {

@Override
public void start() {

vertx.eventBus().consumer('greetings", this::hello);

vertx.eventBus().publish('"greetings", "My first message");

}

private void hello(Message<String> data) {
String message = data.body();
System.out.println(message);

7/9
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NpU10XKeHue

import 1o0.vertx.core.Vertx;
import org.example.verticle.HelloVerticle;

public class Starter {

public static void main(String[] args) {
Vertx.vertx().deployVerticle(new HelloVerticle());
}

8/9
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import 1o0.vertx.core.Vertx;
import org.example.verticle.HelloVerticle;

public class Starter {

public static void main(String[] args) {
Vertx.vertx().deployVerticle(new HelloVerticle());
}

9/9
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bnaokupyrouime
onepauun

Event loop

Event Queue

o -

while (true) {
getNewEvent();
findHandler():;
callHandler();




bnaokupyrouime
onepauun

vertx.eventBus().consumer("block", this::blockingCode);

void blockingCode(Message<String> m) {
for (long 1 = 0; 1 < Long.MAX VALUE; i++) ;
}

1/3



bnokupyrouime
onepauunu

vertx.eventBus().consumer("block", this::blockingCode);

void blockingCode(Message<String> m) {
vertx.executeBlocking(future —> {
for (long i = 0; i < Long.MAX_VALUE; i++) ;
future.complete("ok");
}, res —> System.out.println(res.result()));

2/ 3



bnokupyrouime
onepauunu

vertx.eventBus().consumer("block", this::blockingCode);

void blockingCode(Message<String> m) {
vertx.executeBlocking(future —> {
for (long i = 0; i < Long.MAX_VALUE; i++) ;
future.complete("ok");
}, res —> System.out.println(res.result()));

3/3



| Hayunnuco

B [lepBOe npuaoXxeHue

B bokupyrouime onepaumnu



| NMpoTokKon

1
"text" + "Hello",

"address'": "nickname"

}



| KnneHT

var socket =
new WebSocket (
'ws://HOST/token/ADDRESS

)



| KnneHT

socket.send/(

'{"text" :""He llo",
"address":"receiver"}'

)



| O6wan wunHa v1.0

WebSocket WebSocket
Push message Get message

Event Bus



OTnpaBKa
coobLeHnmn

1/20

public class WsServerVerticle extends
AbstractVerticle {

@Override

public void start() {

vertx.createHttpServer()
.websocketHandler(this::createWebSocketServer)
. listen(8080):

¥
L



OTnpaBKa
coobLeHnmn
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@Override

public void start() {
vertx.createHttpServer()
.websocketHandler(this: :createWebSocketServer)
. Llisten(8080):

L



OTnpaBKa
coobLeHnmn
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@Override

public void start() {
vertx.createHttpServer()
.websocketHandler(this: :createWebSocketServer)
. Llisten(8080):

h
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coobLeHnmn
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@Override

public void start() {
vertx.createHttpServer()
.websocketHandler(this: :createWebSocketServer)
. Llisten(8080):

h



OTnpaBKa
coobLeHnmn
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@Override

public void start() {
vertx.createHttpServer()
.websocketHandler(this::createWebSocketServer)
. Llisten(8080):

h

vold createWebSocketServer
(ServerWebSocket wsServer) {

h



OTnpaBkKa
coobLeHnmn
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void createWebSocketServer(ServerWebSocket wsServer) 1
vertx.eventBus().<String>consumer(wsServer.path(), data —> {
wsServer.writeFinalTextFrame(data.body());
data.reply("ok");

) ;

I3



OTnpaBkKa
coobLeHnmn
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void createWebSocketServer(ServerWebSocket wsServer) 1
vertx.eventBus().<String>consumer(wsServer.path(), data —> {
wsServer.writeFinalTextFrame(data.body());
data.reply("ok");

) ;

I3



OTnpaBKa
coobLeHnmn
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var socket =
new WebSocket (
'ws://HOST/token/ADDRESS

)



OTnpaBkKa
coobLeHnmn
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void createWebSocketServer(ServerWebSocket wsServer) 1
vertx.eventBus().<String>consumer(wsServer.path(), data —> {
wsServer.writeFinalTextFrame(data.body());
data.reply("ok");

) ;

I3



OTnpaBkKa
coobLeHnmn
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void createWebSocketServer(ServerWebSocket wsServer) 1
vertx.eventBus().<String>consumer(wsServer.path(), data —> {
wsServer.writeFinalTextFrame(data.body());
data.reply("ok");

) ;

I3



OTnpaBkKa
coobLeHnmn
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void createWebSocketServer(ServerWebSocket wsServer) 1
vertx.eventBus().<String>consumer(wsServer.path(), data —> {
wsServer.writeFinalTextFrame(data.body());
data.reply("ok");

) ;

I3
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coobLeHnmn 12720

@Override

public void start() {
vertx.createHttpServer()
.websocketHandler(this::createWebSocketServer)
. listen(8080):

}

vold createWebSocketServer
(ServerWebSocket wsServer) {
+



[lpuem

coobweHnn 13720

void createWebSocketServer(ServerWebSocket wsServer) {
wsServer. frameHandler(wsFrame —> {
Data data = Json.decodeValue(wsFrame.textData(), Data.class);
String token = "/token/" + data.getAddress();
vertx.eventBus().publish(
token, wsFrame.textData());
Y
s



[lpuem

coobweHnn 14720

void createWebSocketServer(ServerWebSocket wsServer) 1
wsServer. frameHandler(wsFrame —> {
Data data = Json.decodeValue(wsFrame.textData(), Data.class);:
String token = "/token/" + data.getAddress();
vertx.eventBus().publish(
token, wsFrame.textData()):
) ;
s
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coobweHnn 15 /20

void createWebSocketServer(ServerWebSocket wsServer) {
wsServer. frameHandler(wsFrame —> {
Data data = Json.decodeValue(wsFrame.textData(), Data.class);
String token = "/token/" + data.getAddress();
vertx.eventBus().publish(
token, wsFrame.textData());
Y
s



[Ilpuem

coobweHnn 16720
1

"text" + "Hello",

'"address": "nickname"

}
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coobLeHnn 17720

void createWebSocketServer(ServerWebSocket wsServer) {
wsServer. frameHandler(wsFrame —> {
Data data = Json.decodeValue(wsFrame.textData(), Data.class);
String token = "/token/" + data.getAddress();
vertx.eventBus().publish(
token, wsFrame.textData());
Y
s
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coobweHnn 18720

void createWebSocketServer(ServerWebSocket wsServer) 1
wsServer. frameHandler(wsFrame —> {
Data data = Json.decodeValue(wsFrame.textData(), Data.class);:
String token = "/token/" + data.getAddress();
vertx.eventBus().publish(
token, wsFrame.textData()):
) ;
s
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coobweHnn 1920

void createWebSocketServer(ServerWebSocket wsServer) 1
vertx.eventBus().<String>consumer(wsServer.path(), data —> {
wsServer.writeFinalTextFrame(data.body());
data.reply("ok");

) ;

I3



[Ilpuem

coobLeHun

Demo
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| O6wan wuHa v2.0

WebSocket
Push message

WebSocket
Get message

Event Bus
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void createWebSocketServer(ServerWebSocket wsServer) {
wsServer. frameHandler(wsFrame —> {
Data data = Json.decodeValue(wsFrame.textData(), Data.class);
String token = "/token/" + data.getAddress();
vertx.eventBus().publish(
token, wsFrame.textData());
r);
I3
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void createWebSocketServer(ServerWebSocket wsServer) {
wsServer. frameHandler(wsFrame —> {

vertx.eventBus().publish(
"router", wsFrame.textData());
) ;
s

2/9
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public class RouterVerticle extends AbstractVerticle {

@Override

public void start() {
vertx.eventBus().consumer("router", this::router);

}

void router(Message<String> message) {
Data data = Json.decodeValue(message.body(), Data.class);
vertx.eventBus().publish(
"/token/" + data.getAddress(), message.body());

h
h
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public class RouterVerticle extends AbstractVerticle {

@Override

public void start() {
vertx.eventBus().consumer("router", this::router);

}

void router(Message<String> message) {
Data data = Json.decodeValue(message.body(), Data.class);
vertx.eventBus().publish(
"/token/" + data.getAddress(), message.body());

h
h
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public class RouterVerticle extends AbstractVerticle {

@Override

public void start() {
vertx.eventBus().consumer("router", this::router);

}

void router(Message<String> message) {
Data data = Json.decodeValue(message.body(), Data.class);
vertx.eventBus().publish(
"/token/" + data.getAddress(), message.body());

h
h
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void createWebSocketServer(ServerWebSocket wsServer) {
wsServer. frameHandler(wsFrame —> {

vertx.eventBus().publish(
"router", wsFrame.textData());
) ;

s

6/9
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public class RouterVerticle extends AbstractVerticle {

@Override

public void start() {
vertx.eventBus().consumer("router", this::router);

}

void router(Message<String> message) {
Data data = Json.decodeValue(message.body(), Data.class);
vertx.eventBus().publish(
"/token/" + data.getAddress(), message.body());

h
h
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public class RouterVerticle extends AbstractVerticle {

@Override

public void start() {
vertx.eventBus().consumer("router", this::router);

}

void router(Message<String> message) {
Data data = Json.decodeValue(message.body(), Data.class);
vertx.eventBus().publish(
"/token/" + data.getAddress(), message.body());

h
h
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void createWebSocketServer(ServerWebSocket wsServer) {
vertx.eventBus().<String>consumer(wsServer.path(), data —> {
wsServer.writeFinalTextFrame(data.body());
data.reply("ok");

) ;

s



[IpoayMbiBauTe
MapLUPYThbI
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| O6bwan wuHa v2.1

WebSocket WebSocket REST

Push message Get message Push history

Event Bus

Router



| Rest-K/IMeHT

curl \
-H "Content-Type: application/json" \

-X POST —-d \
'{"text":"Message","address":"token"}"' \

http://HOST/sendMessage



OTnpaBKa
coobweHun no REST
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public class RestServerVerticle extends AbstractVerticle {
@Override
public void start() {

}



OTnpaBKa
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public class RestServerVerticle extends AbstractVerticle {
@Override
public void start() {

}



OTnpaBKa
coobweHun no REST
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);



OTnpaBKa
coobweHun no REST

8/13

@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().publish("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);



OTnpaBKa

coobweHnn no REST

Demo
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WebSocket WebSocket REST

Push message Get message Push history

Event Bus

Router Database
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer("router", this::saveDb);
}
}



| MongoDB > /15

public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer("router", this::saveDb);
}
}
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer("router", this::saveDb);
}
}
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer("router", this::saveDb);
}
}
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer("router", this::saveDb);
}
}
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer("router", this::saveDb);
}
}
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer("router", this::saveDb);
}
}
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer("router", this::saveDb);
}
}

void saveDb(Message<String> message) {

}
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void saveDb(Message<String> message) {
client.insert("message",
new JsonObject(message.body()), this::handlerSaved);

}

void handlerSaved(AsyncResult<String> stringAsyncResult) {
if (stringAsyncResult.succeeded()) {
System.out.println("MongoDB save: "
+ stringAsyncResult.result());
} else {
System.out.println("ERROR MongoDB: "
+ stringAsyncResult.cause());
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void saveDb(Message<String> message) {
client.insert("message",
new JsonObject(message.body()), this::handlerSaved);

}

void handlerSaved(AsyncResult<String> stringAsyncResult) {
if (stringAsyncResult.succeeded()) {
System.out.println("MongoDB save: "
+ stringAsyncResult.result());
} else {
System.out.println("ERROR MongoDB: "
+ stringAsyncResult.cause());
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void saveDb(Message<String> message) {
client.insert("message",
new JsonObject(message.body()), this::handlerSaved);

}

void handlerSaved(AsyncResult<String> stringAsyncResult) {
if (stringAsyncResult.succeeded()) {
System.out.println("MongoDB save: "
+ stringAsyncResult.result());
} else {
System.out.println("ERROR MongoDB: "
+ stringAsyncResult.cause());
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void createWebSocketServer(ServerWebSocket wsServer) {
wsServer. frameHandler(wsFrame —> {

vertx.eventBus().publish(
"router", wsFrame.textData());
) ;

s
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void saveDb(Message<String> message) {
client.insert("message",
new JsonObject(message.body()), this::handlerSaved);

}

void handlerSaved(AsyncResult<String> stringAsyncResult) {
if (stringAsyncResult.succeeded()) {
System.out.println("MongoDB save: "
+ stringAsyncResult.result());
} else {
System.out.println("ERROR MongoDB: "
+ stringAsyncResult.cause());
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void saveDb(Message<String> message) {
client.insert("message",
new JsonObject(message.body()), this::handlerSaved);

}

void handlerSaved(AsyncResult<String> stringAsyncResult) {
if (stringAsyncResult.succeeded()) {
System.out.println("MongoDB save: "
+ stringAsyncResult.result());
} else {
System.out.println("ERROR MongoDB: "
+ stringAsyncResult.cause());
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void saveDb(Message<String> message) {
client.insert("message",
new JsonObject(message.body()), this::handlerSaved);

}

void handlerSaved(AsyncResult<String> stringAsyncResult) {
if (stringAsyncResult.succeeded()) {
System.out.println("MongoDB save: "
+ stringAsyncResult.result());
} else {
System.out.println("ERROR MongoDB: "
+ stringAsyncResult.cause());
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curl http://HOST/getHistory
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public class RestServerVerticle extends AbstractVerticle {
@Override
public void start() {

}
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@Override
public void start() {
// . . .
httpRouter.get("/getHistory")
.handler(request —>
vertx.eventBus().send(
"getHistory", request.getBodyAsString(),
result —>
request.response().end(
result.result().body().toString())));
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@Override
public void start() {
// . . .
httpRouter.get("/getHistory")
.handler(request —>
vertx.eventBus().send(
"getHistory", request.getBodyAsString(),
result —>
request.response().end(
result.result().body().toString())));
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@Override
public void start() {
// . . .
httpRouter.get("/getHistory")
.handler(request —>
vertx.eventBus().send(
"getHistory", request.getBodyAsString(),
result —>
request.response().end(
result.result().body().toString())));
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@Override
public void start() {
// . . .
httpRouter.get("/getHistory")
.handler(request —>
vertx.eventBus().send(
"getHistory", request.getBodyAsString(),
result —>
request.response().end(
result.result().body().toString())));



[Ilpnem

coobweHnn no REST 6 /12

@Override
public void start() {
// . . .
httpRouter.get("/getHistory")
.handler(request —>
vertx.eventBus().send(
"getHistory", request.getBodyAsString(),
result —>
request.response().end(
result.result().body().toString())));
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
[/ « «
vertx.eventBus().consumer('"getHistory", this::getHistory);
}

}

void getHistory(Message<String> message) <{
client.find("message", new JsonObject(),
result —> message.reply(
Json.encode(result.result()))

) ;
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
[/ « «
vertx.eventBus().consumer('"getHistory", this::getHistory);
}

}

void getHistory(Message<String> message) {
client.find("message", new JsonObject(),
result —> message.reply(
Json.encode(result.result()))

) ;
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
[/ « «
vertx.eventBus().consumer('"getHistory", this::getHistory);
}

}

void getHistory(Message<String> message) {
client.find("message", new JsonObject(),
result —> message.reply(
Json.encode(result.result()))

) ;
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
[/ « «
vertx.eventBus().consumer('"getHistory", this::getHistory);
}

}

void getHistory(Message<String> message) {
client.find("message", new JsonObject(),
result —> message.reply(
Json.encode(result.result()))

) ;
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@Override
public void start() {
// . . .

httpRouter.get("/getHistory")

.handler(request —>

vertx.eventBus().send(
"getHistory", request.getBodyAsString(),
result —>
request.response().end(
result.result().body().toString())));



[Ilpuem

coobweHnn no REST

Demo



Kubernetes
OoNnuncaHue

B Crpeyeckoro— «PyneBou»
‘% B [lepBOHAYaJIbHbIW
pa3paboTumnk — Google

B Ynpasnset Docker KOHTeMHepamm

kubernetes




| Kubernetes

3apa4ya — aBTOMAaTU3UMpPOBaTb paboTy
c Docker KOHTeMHepamu:

® YCTAHOBKA E Bo3BpaT K CTapon Bepcmm
®E OO6HoBNEHME = MOHWUTOPUHI

® MacwTtabupoBaHue ® JlormpoBaHue



4YTO TaKkoe
Deployment

REPLICA SET N

REPLICA SET

DEPLOYMENT

REPLICA SET N




| Deploy

public class Starter 1

public static void main(String[] args) {

Vertx.
Vertx.
Vertx.
Vertx.

h
h

vertx().deployVerticle(new WsServerVerticle());
vertx().deployVerticle(new RestServerVerticle());
vertx().deployVerticle(new RouterVerticle());
vertx().deployVerticle(new MongoDbVerticle());

1/5
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apiVersion: apps/vl
kind: Deployment
metadata:
name: jbreak-chat
spec:
selector:
matchLabels:
run: jbreak-chat
replicas: 1
temp late:
metadata:

labels:
run: jbreak-chat

spec:

contalners:

— name: jbreak-chat
image: dzx912/jbreak-chat:1
ports:

— containerPort: 8080
— containerPort: 8081
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apiVersion: vl
kind: Service

metadata:

name: jbreak-chat

labels:
run: jbreak—-chat

spec:

selector:
run: jbreak—-chat-server

ports:

— name: websocket
port: 8080
nodePort: 30080

— name: http
port: 8081

nodePort: 30081
type: LoadBalancer
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kubectl apply —f chat.yaml
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IgniteConfiguration getIgniteConfiguration() {
TcpDiscoverySpi spi = new TcpDiscoverySpi();
TcpDiscoveryKubernetesIpFinder 1pFinder =

new TcpDiscoveryKubernetesIpFinder();

ipFinder.setServiceName("jbreak-chat");

spi.setIpFinder(ipFinder);

IgniteConfiguration cfg = new IgniteConfiguration();
cfg.setDiscoverySpi(spi);

return cfg;
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apiVersion: vl
kind: Service
metadata:

name: jbreak-chat
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IgniteConfiguration getIgniteConfiguration() {
TcpDiscoverySpi spi = new TcpDiscoverySpi();
TcpDiscoveryKubernetesIpFinder 1pFinder =

new TcpDiscoveryKubernetesIpFinder();

ipFinder.setServiceName("jbreak-chat");

spi.setIpFinder(ipFinder);

IgniteConfiguration cfg = new IgniteConfiguration();
cfg.setDiscoverySpi(spi);

return cfg;
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void setupCluster() {
ClusterManager clusterManager =
new IgniteClusterManager(getIgniteConfiguration());

VertxOptions options = new VertxOptions()
.setClustered(true)
. setClusterManager(clusterManager)
.setClusterHost(getMyIp());

Vertx.clusteredVertx(options, res —> {
if (res.succeeded()) {
Vertx vertx = res.result();:
deploy(vertx);

r);
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void setupCluster() {
ClusterManager clusterManager =
new IgniteClusterManager(getIgniteConfiguration());

VertxOptions options = new VertxOptions()
.setClustered(true)
. setClusterManager(clusterManager)
.setClusterHost(getMyIp());

Vertx.clusteredVertx(options, res —> {
if (res.succeeded()) {
Vertx vertx = res.result();:
deploy(vertx);

r);
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void setupCluster() {
ClusterManager clusterManager =
new IgniteClusterManager(getIgniteConfiguration());

VertxOptions options = new VertxOptions()
.setClustered(true)
. setClusterManager(clusterManager)
.setClusterHost(getMyIp());

Vertx.clusteredVertx(options, res —> {
if (res.succeeded()) {
Vertx vertx = res.result();:
deploy(vertx);

r);
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void setupCluster() {
ClusterManager clusterManager =
new IgniteClusterManager(getIgniteConfiguration());

VertxOptions options = new VertxOptions()
.setClustered(true)
. setClusterManager(clusterManager)
.setClusterHost(getMyIp());

Vertx.clusteredVertx(options, res —> {
if (res.succeeded()) {
Vertx vertx = res.result();:
deploy(vertx);

r);
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void setupCluster() {
ClusterManager clusterManager =
new IgniteClusterManager(getIgniteConfiguration());

VertxOptions options = new VertxOptions()
.setClustered(true)
. setClusterManager(clusterManager)
.setClusterHost(getMyIp());

Vertx.clusteredVertx(options, res —> {
if (res.succeeded()) {
Vertx vertx = res.result();
deploy(vertx);

r);
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void setupCluster() {
ClusterManager clusterManager =
new IgniteClusterManager(getIgniteConfiguration());

VertxOptions options = new VertxOptions()
.setClustered(true)
. setClusterManager(clusterManager)
.setClusterHost(getMyIp());

Vertx.clusteredVertx(options, res —> {
if (res.succeeded()) {
Vertx vertx = res.result();:
deploy(vertx);

r);
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void deploy(Vertx vertx) A
vertx.deployVerticle(new WsServerVerticle());
vertx.deployVerticle(new RestServerVerticle());
vertx.deployVerticle(new RouterVerticle());
vertx.deployVerticle(new MongoDbVerticle());

AN N N N
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void deploy(Vertx vertx) A
vertx.deployVerticle(new WsServerVerticle());
vertx.deployVerticle(new RestServerVerticle());
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apiVersion: apps/vl
kind: Deployment
metadata:
name: jbreak—-chat-server
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void deploy(Vertx vertx) A
vertx.deployVerticle(new RouterVerticle());
}
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apiVersion: apps/vl
kind: Deployment
metadata:
name: jbreak-chat-router
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void deploy(Vertx vertx) A
vertx.deployVerticle(new MongoDbVerticle());
}
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apiVersion: apps/vl
kind: Deployment
metadata:

name: jbreak—-chat—-mongo
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void createWebSocketServer(ServerWebSocket wsServer) {
wsServer. frameHandler(wsFrame —> {

vertx.eventBus () .publish(

"router", wsFrame.textData()):

});
+
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void createWebSocketServer(ServerWebSocket wsServer) {
wsServer. frameHandler(wsFrame —> {

vertx.eventBus().send(
"router", wsFrame.textDatal());
) ;
s
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@Override
public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")
.handler(request —> {
vertx.eventBus() .pubtish("router", request.getBodyAsString());
request.response().end("ok");
F);
httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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@Override

public void start() {
HttpServer httpServer = vertx.createHttpServer();
Router httpRouter = Router.router(vertx);
httpRouter.route().handler(BodyHandler.create());
httpRouter.post("/sendMessage")

.handler(request —> {
vertx.eventBus().send("router", request.getBodyAsString());
request.response().end("ok");

F);

httpServer. requestHandler(httpRouter::accept);
httpServer. listen(8081);
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer (“reuter™, this::saveDb);
}
}
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public class MongoDbVerticle extends AbstractVerticle {
private MongoClient client;
@Override
public void start() {
client = MongoClient.createShared(vertx, new JsonObject()
.put("db_name", "my DB"));
vertx.eventBus().consumer("database.save", this::saveDb):
}
}
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public class RouterVerticle extends AbstractVerticle {
void router(Message<String> message) {
Data data = Json.decodeValue(message.body(), Data.class);
vertx.eventBus().publish(
"/token/" + data.getAddress(), message.body());

vertx.eventBus().send("database.save", message.body());

h
h
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kubectl delete —f chat.yaml
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